Prepared by EHS Solicitation N		1 Contract No.: C-12-030	O-CN	8				Ď.	
			TO WATER SYSTEM	Pronto Sandblasting & Coating Oilfield Services Co., Inc.	resa 78223	uc	312 Sunset Dr Granite Shoals, TX 78654	National Power Rodding Corp.	4
			EXAS 78298-2449	ig & C	r T X	Atlas Construction	, TX ,	Roddin	9850 FM 969 Austin, TX 78724
PROPOSAL	:	TABULATION O DSP Open Cut Wat	F BIDS ter Work Order Construction	olastir	9456 Sout San Antonio,	Cons	Sun	wer F	9850 FM 969 ustin, TX 787;
		Contract 2012		Sandb ield S	9456 n Ant	Atlas	312 nite S	nal Po	986 Austi
TIME &		Job # 12-7202 10:00 A.M.		onto S	Sa	· ·	Gra	Vation	
DATE:		April 13, 2012		Pr			Г	2	T
Item No.	Estimate Qty	Unit of Issue	Description	Unit Price		Unit Price	Total	Unit Price	Total
103.1	100	LF	Remove Concrete Curb	\$1.00	\$100.00	\$5.00	\$500.00	\$1.00	\$100.00
103.3	200	SF	Remove Sidewalks and Driveways	\$3.00	\$600.00	\$5.00	\$1,000.00	\$1.00	\$200.00
103.4	50	SF	Remove Miscellaneous Concrete	\$5.00	\$250.00	\$5.00	\$250.00	\$1.00	\$50.00
200.1	50	SY	Flexible Base (4" Compacted Depth) (Type A)	\$4.00	\$200.00	\$10.00	\$500.00	\$60.00	\$3,000.00
200.1	30	51		φ1.00	Ψ200.00	Ψ10.00	ψ300.00	ψ00.00	ψ3,000.00
200.1	100	SY	Flexible Base (6" Compacted Depth) (Type A)	\$6.00	\$600.00	\$12.00	\$1,200.00	\$65.00	\$6,500.00
201	100	SY	Cement Treated Base-24" (TX 120-E)	\$45.00	\$4,500.00	\$50.00	\$5,000.00	\$124.00	\$12,400.00
202.1	30	GAL	Prime Coat	\$10.00	\$300.00	\$10.00	\$300.00	\$22.00	\$660.00
203.1	10	GAL	Tack Coat	\$10.00	\$100.00	\$10.00	\$100.00	\$22.00	\$220.00
205.2	50	SY	Hot Mix Asphaltic Pavement, Type B (3" Pavement Thickness)	\$22.00	\$1,100.00	\$50.00	\$2,500.00	\$125.00	\$6,250.00
203.2	30		Hot Mix Asphaltic Pavement,	Ψ22.00	ψ1,100.00	Ψ30.00	Ψ2,200.00	Ψ123.00	ψ0,230.00
205.2	50	SY	Type B (6" Pavement Thickness)	\$70.00	\$3,500.00	\$60.00	\$3,000.00	\$158.00	\$7,900.00
205.2	50	SY	Hot Mix Asphaltic Pavement, Type B (8" Pavement Thickness)	\$90.00	\$4,500.00	\$70.00	\$3,500.00	\$190.00	\$9,500.00
205.3	200	SY	Hot Mix Asphaltic Pavement, Type B (2" Pavement Thickness)	\$18.00	\$3,600.00	\$30.00	\$6,000.00	\$118.00	\$23,600.00
			Hot Mix Asphaltic Pavement,						
205.3	200	SY	Type B (3" Pavement Thickness) Hot Mix Asphaltic Pavement,	\$22.00	\$4,400.00	\$45.00	\$9,000.00	\$125.00	\$25,000.00
205.4	200	SY	Type B (1.5" Pavement Thickness)	\$14.00	\$2,800.00	\$20.00	\$4,000.00	\$117.00	\$23,400.00

Prepared by EHS Solicitation No.	: B-12-027-CM	Contract No.: C-12-030-	CN	ಪ				Ġ.		
			O WATER SYSTEM	Coating & o., Inc.	23		r 78654	National Power Rodding Corp.		
		P. O. BOX 2449		nto Sandblasting & Coatin Oilfield Services Co., Inc.	9456 South Presa San Antonio, TX 78223	tion	312 Sunset Dr Granite Shoals, TX 786;	gui	9850 FM 969 Austin, TX 78724	
		SAN ANTONIO, TE		Pronto Sandblasting & Oilfield Services C	9456 South Presa Antonio, TX 782	truct	, TX	ppo	961	
		TABULATION OF		stin	outh iio, '	onst	Suns oals,	er R	TX	
PROPOSAL:		-	r Work Order Construction	dbla	onton	ls C	Shc Shc	,wo	850 stin,	
		Contract 2012		Sand	94.9 n A	Atla	mite 3.	nal E	9 Aus	
TIME &		Job # 12-7202 10:00 A.M.		nto oil:	Sa		Gra	atio:		
	April 13, 2012			Pro				ž		
DATE:		April 13, 2012								
Item No.	Estimate Qty	Unit of Issue	Description	Unit Price		Unit Price	Total	Unit Price	Total	
			II (M. A. I.I. D.							
205.4	200	SY	Hot Mix Asphaltic Pavement, Type B (2" Pavement Thickness)	\$18.00	\$3,600.00	\$20.00	\$4,000.00	\$118.00	\$23,600.00	
					,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		, ,		,	
2061	100	GV.	Asphalt Treated Base (10"	¢100.00	¢10,000,00	ф75.00	φ π 500 00	ф207.00	#20.700.00	
206.1	100	SY	Compacted Depth) Salvaging, Hauling and	\$100.00	\$10,000.00	\$75.00	\$7,500.00	\$207.00	\$20,700.00	
			Stockpiling Reclaimable Asphaltic							
208.1	400	SY	Pavement (1.5" Depth)	\$7.00	\$2,800.00	\$10.00	\$4,000.00	\$11.00	\$4,400.00	
			Salvaging, Hauling and Stockpiling Reclaimable Asphaltic							
208.1	400	SY	Pavement (2" Depth)	\$10.00	\$4,000.00	\$10.00	\$4,000.00	\$11.00	\$4,400.00	
247	50	CY	Flexible Base-Type A, Grade I with 2% Cement (TxDOT Spec)	\$60.00	\$3,000.00	\$60.00	\$3,000.00	\$90.00	\$4,500.00	
217		01	With 270 coment (This of spee)	φου.σο	ψ5,000.00	φου.σσ	ψ5,000.00	Ψ, σ. σσ	ψ1,500.00	
			g 15							
306.1	50	CY	Structural Excavation	\$50.00	\$2,500.00	\$50.00	\$2,500.00	\$60.00	\$3,000.00	
			HMAC Pavement Type "C"							
340	25	CY	(TxDOT Spec)	\$100.00	\$2,500.00	\$100.00	\$2,500.00	\$297.00	\$7,425.00	
500.1	25	LF	Concrete Curbing	\$20.00	\$500.00	\$25.00	\$625.00	\$55.00	\$1,375.00	
500.4	50	LF	Concrete Curb and Gutter	\$30.00	\$1,500.00	\$35.00	\$1,750.00	\$66.00	\$3,300.00	
502.1	25	SY	Concrete Sidewalks - Conventionally Formed	\$70.00	\$1,750.00	\$60.00	\$1,500.00	\$90.00	\$2,250.00	
				<i>\$7,0.00</i>	7-1,700.00	#55.50	÷ 1,0 00.00	4,5.00	+=,255.30	
503.1	25	SY	Portland Cement Concrete Driveway	\$80.00	\$2,000.00	\$70.00	\$1,750.00	\$165.00	\$4,125.00	
303.1	23	31	Direway	\$60.00	\$2,000.00	\$70.00	\$1,730.00	\$103.00	\$4,123.00	
502.2	2-	G. 7.	Portland Cement Concrete	400.00	#2.250.00	400.00	*2 000 00	\$10 7 00	* * * * * * * * * *	
503.2	25	SY	Driveway - Commercial	\$90.00	\$2,250.00	\$80.00	\$2,000.00	\$187.00	\$4,675.00	
503.4	25	SY	Asphaltic Concrete Driveway	\$15.00	\$375.00	\$30.00	\$750.00	\$90.00	\$2,250.00	
503.5	25	SY	Gravel Driveway	\$5.00	\$125.00	\$15.00	\$375.00	\$38.00	\$950.00	

Prepared by EHS Solicitation No.	.: B-12-027-CM	Contract No.: C-12-030-	IO WATER SYSTEM	tting & nc.	23		554	Corp.		
PROPOSAL: TIME & DATE:		P. O. BOX 2449 SAN ANTONIO, TE TABULATION OF DSP Open Cut Wate Contract 2012 Job # 12-7202 10:00 A.M. April 13, 2012		Pronto Sandblasting & Coating Oilfield Services Co., Inc. 9456 South Presa San Antonio, TX 78223		Atlas Construction	312 Sunset Dr Granite Shoals, TX 78654	National Power Rodding Corp. 9850 FM 969 Austin, TX 78724		
Item No.	Estimate Qty	Unit of Issue	Description	Unit Price		Unit Price	Total	Unit Price	Total	
504.1	20	SY	Concrete Median	\$70.00	\$1,400,00	\$70.00	\$1,400,00	\$198.00	\$3,060,00	
504.1	20	51	Concrete Median	\$70.00	\$1,400.00	\$70.00	\$1,400.00	\$198.00	\$3,960.00	
504.2	20	SY	Concrete Directional Island	\$90.00	\$1,800.00	\$90.00	\$1,800.00	\$198.00	\$3,960.00	
505.1	20	SY	Concrete Riprap (5" Thick)	\$90.00	\$1,800.00	\$90.00	\$1,800.00	\$110.00	\$2,200.00	
506.1	10	CY	Concrete Retaining Walls - Combination Type	\$500.00	\$5,000.00	\$500.00	\$5,000.00	\$770.00	\$7,700.00	
507.2	50	LF	Temporary Chain Link Wire Fence, all sizes	\$10.00	\$500.00	\$15.00	\$750.00	\$16.00	\$800.00	
307.2	30	Li	z eneo, un sizes	ψ10.00	Ψ300.00	ψ13.00	Ψ130.00	\$10.00	ψ000.00	
507.4	1	EA	Gates - Pedestrian	\$300.00	\$300.00	\$500.00	\$500.00	\$200.00	\$200.00	
507.5	1	EA	Gates - Vehicular	\$500.00	\$500.00	\$1,000.00	\$1,000.00	\$500.00	\$500.00	
509.1	25	LF	Metal Beam Guard Rail	\$90.00	\$2,250.00	\$90.00	\$2,250.00	\$150.00	\$3,750.00	
510	4	EA	Timber Guard Posts	\$300.00	\$1,200.00	\$500.00	\$2,000.00	\$150.00	\$600.00	
511.3	25	SY	Replacing with Hot Mix Asphaltic Concrete Pavement (3" Type D & 10" Type B)	\$120.00	\$3,000.00	\$120.00	\$3,000.00	\$243.00	\$6,075.00	
511.3	50	SY	Replacing with Hot Mix Asphaltic Concrete Pavement (2" Type D & 6" Type B)	\$100.00	\$5,000.00	\$100.00	\$5,000.00	\$210.00	\$10,500.00	
311.3	30	31	Replacing with Portland Cement	\$100.00	\$3,000.00	\$100.00	\$3,000.00	\$210.00	\$10,300.00	
511.4	25	SY	Concrete Pavement - 16"	\$160.00	\$4,000.00	\$225.00	\$5,625.00	\$155.00	\$3,875.00	
513.1	2	EA	Removing and Relocating Mailboxes	\$100.00	\$200.00	\$350.00	\$700.00	\$400.00	\$800.00	

	Contract 2012		ng & Co	782 782	on	∞̃	ÞΩ	
	Contract 2012	Work Order Construction	Sti	outh P	Atlas Construction	312 Sunset Dr Granite Shoals, TX 78654	National Power Rodding Corp.	9850 FM 969 Austin, TX 78724
	Job # 12-7202		Pronto Sandblasting & Coating & Oilfield Services Co., Inc.	9456 South Presa San Antonio, TX 78223	Atlas C	312 S anite Sho	onal Pow	Austin,
	10:00 A.M.		onto	S		ප්	Vatic	
April 13, 2012			Pr				2	
nate	Unit of Issue	Description	Unit Price		Unit Price	Total	Unit Price	Total
		Removing and Relocating						
2	EA	Mailboxes (Masonry)	\$700.00	\$1,400.00	\$2,000.00	\$4,000.00	\$1,400.00	\$2,800.00
20	CY	Topsoil	\$25.00	\$500.00	\$50.00	\$1,000.00	\$50.00	\$1,000.00
25	SY	Bermuda Sodding	\$10.00	\$250.00	\$15.00	\$375.00	\$50.00	\$1,250.00
25	SY	St. Augustine Sodding	\$10.00	\$250.00	\$15.00	\$375.00	\$30.00	\$750.00
5	EA	Shrubs	\$100.00	\$500.00	\$100.00	\$500.00	\$300.00	\$1,500.00
25	SY	Landscaping / Flower Beds	\$20.00	\$500.00	\$25.00	\$625.00	\$60.00	\$1,500.00
1	EA	Tree (3" Trunk Diameter)	\$500.00	\$500.00	\$600.00	\$600.00	\$400.00	\$400.00
1	EA	Tree (6" Trunk Diameter)	\$1,000.00	\$1,000.00	\$1,200.00	\$1,200.00	\$700.00	\$700.00
50	SY	Hydromulch (Residential or Commercial)	\$5.00	\$250.00	\$5.00	\$250.00	\$5.00	\$250.00
10	EA	Barricades, Signs and Traffic Handling	\$10,000.00	\$100,000.00	\$6,000.00	\$60,000.00	\$5,000.00	\$50,000.00
5,000		Trench Excavation Safety	A. 22	ф г 000 00	***	#10.000.00	AT 6 2	#25.000.00
5,000	LF	Protection	\$1.00	\$5,000.00	\$2.00	\$10,000.00	\$7.00	\$35,000.00
100	SF	Temporary Special Shoring	\$25.00	\$2,500.00	\$35.00	\$3,500.00	\$20.00	\$2,000.00
50	I.E.	Remove and Relocate Irrigation	\$10.00	Ø500.00	\$50.00	\$2.500.00	ф1Z 00	\$800.00
	20 25 25 5 25 1 1 50 10	20 CY 25 SY 25 SY 5 EA 25 SY 1 EA 1 EA 50 SY 10 EA 1,000 LF	Removing and Relocating Mailboxes (Masonry) 20 CY Topsoil 25 SY Bermuda Sodding 25 SY St. Augustine Sodding 5 EA Shrubs 25 SY Landscaping / Flower Beds 1 EA Tree (3" Trunk Diameter) 1 EA Tree (6" Trunk Diameter) 1 FA Hydromulch (Residential or Commercial) 10 EA Handling Trench Excavation Safety Protection 10 SF Temporary Special Shoring Remove and Relocate Irrigation	2 EA Removing and Relocating Mailboxes (Masonry) \$700.00 20 CY Topsoil \$25.00 25 SY Bermuda Sodding \$10.00 25 SY St. Augustine Sodding \$100.00 5 EA Shrubs \$100.00 25 SY Landscaping / Flower Beds \$20.00 1 EA Tree (3" Trunk Diameter) \$500.00 1 EA Tree (6" Trunk Diameter) \$1,000.00 50 SY Commercial) \$5.00 10 EA Handling \$10,000.00 10 EA Handling \$10,000.00 100 SF Temporary Special Shoring \$25.00 100 Remove and Relocate Irrigation \$25.00	2 EA Removing and Relocating Mailboxes (Masonry) \$700.00 \$1,400.00 20 CY Topsoil \$25.00 \$500.00 25 SY Bermuda Sodding \$10.00 \$250.00 25 SY St. Augustine Sodding \$10.00 \$250.00 5 EA Shrubs \$100.00 \$500.00 25 SY Landscaping / Flower Beds \$20.00 \$500.00 1 EA Tree (3" Trunk Diameter) \$500.00 \$500.00 1 EA Tree (6" Trunk Diameter) \$1,000.00 \$1,000.00 50 SY Commercial) \$5.00 \$250.00 10 EA Handling \$10,000.00 \$100,000.00 100 SF Temporary Special Shoring \$25.00 \$2,500.00 Remove and Relocate Irrigation \$25.00 \$2,500.00	2 EA Removing and Relocating Mailboxes (Masonry) \$700.00 \$1,400.00 \$2,000.00 20 CY Topsoil \$25.00 \$500.00 \$50.00 25 SY Bermuda Sodding \$10.00 \$250.00 \$15.00 25 SY St. Augustine Sodding \$10.00 \$250.00 \$15.00 5 EA Shrubs \$100.00 \$500.00 \$100.00 25 SY Landscaping / Flower Beds \$20.00 \$500.00 \$25.00 1 EA Tree (3" Trunk Diameter) \$500.00 \$500.00 \$600.00 1 EA Tree (6" Trunk Diameter) \$1,000.00 \$1,000.00 \$1,200.00 50 SY Commercial) \$5.00 \$250.00 \$5.00 10 EA Handling \$10,000.00 \$100,000.00 \$6,000.00 100 SF Temporary Special Shoring \$25.00 \$2,500.00 \$35.00 100 SF Temporary Special Shoring \$25.00 \$2,500.00 \$35	2 EA Removing and Relocating Mailboxes (Masonry) \$700.00 \$1,400.00 \$2,000.00 \$4,000.00 20 CY Topsoil \$25.00 \$50.00 \$50.00 \$1,000.00 25 SY Bermuda Sodding \$10.00 \$250.00 \$15.00 \$375.00 25 SY St. Augustine Sodding \$10.00 \$250.00 \$15.00 \$375.00 5 EA Shrubs \$100.00 \$500.00 \$100.00 \$500.00 25 SY Landscaping / Flower Beds \$20.00 \$500.00 \$100.00 \$500.00 25 SY Landscaping / Flower Beds \$20.00 \$500.00 \$600.00 \$600.00 1 EA Tree (3" Trunk Diameter) \$500.00 \$500.00 \$600.00 \$600.00 1 EA Tree (6" Trunk Diameter) \$1,000.00 \$1,000.00 \$1,200.00 \$1,200.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 <td>2 EA Removing and Relocating Mailboxes (Masonry) \$700.00 \$1,400.00 \$2,000.00 \$4,000.00 \$1,400.00 20 CY Topsoil \$25.00 \$500.00 \$50.00 \$1,000.00 \$50.00 25 SY Bermuda Sodding \$10.00 \$250.00 \$15.00 \$375.00 \$50.00 25 SY St. Augustine Sodding \$10.00 \$250.00 \$15.00 \$375.00 \$30.00 5 EA Shrubs \$100.00 \$500.00 \$100.00 \$500.00 \$300.00 25 SY Landscaping / Flower Beds \$20.00 \$500.00 \$100.00 \$500.00 \$300.00 1 EA Tree (3" Trunk Diameter) \$500.00 \$500.00 \$600.00 \$600.00 \$400.00 1 EA Tree (6" Trunk Diameter) \$1,000.00 \$1,000.00 \$1,200.00 \$1,200.00 \$700.00 50 SY Commercial) \$5.00 \$250.00 \$6,000.00 \$60,000.00 \$5,000.00 10</td>	2 EA Removing and Relocating Mailboxes (Masonry) \$700.00 \$1,400.00 \$2,000.00 \$4,000.00 \$1,400.00 20 CY Topsoil \$25.00 \$500.00 \$50.00 \$1,000.00 \$50.00 25 SY Bermuda Sodding \$10.00 \$250.00 \$15.00 \$375.00 \$50.00 25 SY St. Augustine Sodding \$10.00 \$250.00 \$15.00 \$375.00 \$30.00 5 EA Shrubs \$100.00 \$500.00 \$100.00 \$500.00 \$300.00 25 SY Landscaping / Flower Beds \$20.00 \$500.00 \$100.00 \$500.00 \$300.00 1 EA Tree (3" Trunk Diameter) \$500.00 \$500.00 \$600.00 \$600.00 \$400.00 1 EA Tree (6" Trunk Diameter) \$1,000.00 \$1,000.00 \$1,200.00 \$1,200.00 \$700.00 50 SY Commercial) \$5.00 \$250.00 \$6,000.00 \$60,000.00 \$5,000.00 10

Prepared by EHS Solicitation No.	.: B-12-027-CM	Contract No.: C-12-030	-CN	3 %				p.		
		SAN ANTON	IO WATER SYSTEM	Pronto Sandblasting & Coating & Oilfield Services Co., Inc.	23	_	r 78654	National Power Rodding Corp.		
		P. O. BOX 2449	EWAG 70200 2440	nto Sandblasting & Coatin Oilfield Services Co., Inc. 9456 South Presa	San Antonio, TX 78223	tion	312 Sunset Dr Granite Shoals, TX 786.	ding	9850 FM 969 Austin, TX 78724	
		SAN ANTONIO, TABULATION OF		ng 8	Ĭ,	struc	s, T	Rod	Z X 2 %	
PROPOSAL:			er Work Order Construction	lasti ervi Sou	onio	Con	Sur hoal	wer	r, 6 H (1	
		Contract 2012		mdb. 1d S 14 S	Antc	tlas	312 te SI	Po	985 ustir	
		Job # 12-7202		o Sa ilfie	San	¥.	rani	onal	A	
TIME &		10:00 A.M.		ront	01		G	Nati		
DATE:		April 13, 2012		Δ.			T			
Item No.	Estimate Qty	Unit of Issue	Description	Unit Price		Unit Price	Total	Unit Price	Total	
553	10	EA	Storm Water Pollution Prevention Plan (SWP3)	\$1.00	\$10.00	\$1,500.00	\$15,000.00	\$3,800.00	\$38,000.00	
805	10	EA	Traffic Control Plan	\$250.00	\$2,500.00	\$750.00	\$7,500.00	\$3,600.00	\$36,000.00	
			Reinforced Concrete Vaults for Metered Fireline complete with							
809	2	EA	DCDA	\$9,500.00	\$19,000.00	\$15,000.00	\$30,000.00	\$20,000.00	\$40,000.00	
813	25	EA	Water Service for Fire Line	\$80.00	\$2,000.00	\$100.00	\$2,500.00	\$33.00	\$825.00	
814	25	LF	6" Ductile Iron Pipe Waterline (Restrained as Required)	\$80.00	\$2,000.00	\$70.00	\$1,750.00	\$81.00	\$2,025.00	
814	100	LF	8" Ductile Iron Pipe Waterline (Restrained as Required)	\$95.00	\$9,500.00	\$80.00	\$8,000.00	\$106.00	\$10,600.00	
814	25	LF	10" Ductile Iron Pipe Waterline (Restrained as Required)	\$95.00	\$2,375.00	\$90.00	\$2,250.00	\$115.00	\$2,875.00	
814	100	LF	12" Ductile Iron Pipe Waterline (Restrained as Required)	\$120.00	\$12,000.00	\$100.00	\$10,000.00	\$152.00	\$15,200.00	
814	200	LF	16" Ductile Iron Pipe Waterline (Restrained as Required)	\$150.00	\$30,000.00	\$120.00	\$24,000.00	\$188.00	\$37,600.00	
814	50	LF	20" Ductile Iron Pipe Waterline (Restrained as Required)	\$210.00	\$10,500.00	\$150.00	\$7,500.00	\$236.00	\$11,800.00	
814	100	LF	24" Ductile Iron Pipe Waterline (Restrained as Required)	\$245.00	\$24,500.00	\$180.00	\$18,000.00	\$273.00	\$27,300.00	
815	25	LF	6" HDPE SDR 11 (DIPS) Waterline (Open Cut)	\$90.00	\$2,250.00	\$75.00	\$1,875.00	\$69.00	\$1,725.00	
815	100	LF	8" HDPE SDR 11 (DIPS) Waterline (Open Cut)	\$100.00	\$10,000.00	\$80.00	\$8,000.00	\$91.00	\$9,100.00	
815	25	LF	10" HDPE SDR 11 (DIPS) Waterline (Open Cut)	\$100.00	\$2,500.00	\$100.00	\$2,500.00	\$100.00	\$2,500.00	
815	100	LF	12" HDPE SDR 11 (DIPS) Waterline (Open Cut)	\$120.00	\$12,000.00	\$110.00	\$11,000.00	\$136.00	\$13,600.00	

Prepared by EHS				જ					
Solicitation No	o.: B-12-027-CM	CANLANTEON		ng d			4	National Power Rodding Corp.	
		SAN ANTON	IO WATER SYSTEM	nto Sandblasting & Coatin Oilfield Services Co., Inc.	78223	ے ا	312 Sunset Dr Granite Shoals, TX 78654) ŭ	+
		P. O. BOX 2449		, C	9450 South Fresa 1 Antonio, TX 782	Atlas Construction	X Dr.	ding 3	9850 FM 969 Austin, TX 78724
			EXAS 78298-2449	1g 8	Z X	truc	set,	Pool	9850 FM 969 ustin, TX 787;
		TABULATION O		Stin	our.	suo	Suns	er F	F F
PROPOSAL:	•	-	ter Work Order Construction	lbla Ser	o S nton	S C	Shc Shc	owo'	850 tin,
		Contract 2012		Sanc	9420 South Fr	Atla	31 nite	al F	Aus
		Job # 12-7202		to S	Sar	`	Gra	lion	•
TIME &		10:00 A.M.		Pronto Sandblasting & Coating Oilfield Services Co., Inc.			O	Nat	
DATE:				Д.			1		1
Item No.	Estimate Qty	Unit of Issue	Description	Unit Price		Unit Price	Total	Unit Price	Total
			16" HDPE SDR 11 (DIPS)						
815	100	LF	Waterline (Open Cut)	\$160.00	\$16,000.00	\$160.00	\$16,000.00	\$162.00	\$16,200.00
			-						
015	50	I.E.	20" HDPE SDR 11 (DIPS)	¢210.00	¢10.500.00	¢200.00	¢10,000,00	¢205.00	¢10.250.00
815	50	LF	Waterline (Open Cut)	\$210.00	\$10,500.00	\$200.00	\$10,000.00	\$205.00	\$10,250.00
			24" HDPE SDR 11 (DIPS)						
815	50	LF	Waterline (Open Cut)	\$290.00	\$14,500.00	\$285.00	\$14,250.00	\$242.00	\$12,100.00
816	100	LF	12" Steel Water Main (Open Cut)	\$250.00	\$25,000.00	\$150.00	\$15,000.00	\$136.00	\$13,600.00
816	50	LF	24" Steel Water Main (Open Cut)	\$450.00	\$22,500.00	\$300.00	\$15,000.00	\$250.00	\$12,500.00
010	30	Li	24 Steel Water Main (Open Cut)	ψ+30.00	Ψ22,300.00	\$300.00	\$15,000.00	Ψ230.00	\$12,300.00
			6" PVC Waterline (Restrained as						
818	25	LF	Required)	\$56.00	\$1,400.00	\$55.00	\$1,375.00	\$90.00	\$2,250.00
			8" PVC Waterline (Restrained as						
818	200	LF	Required)	\$65.00	\$13,000.00	\$60.00	\$12,000.00	\$110.00	\$22,000.00
			10" PVC Waterline (Restrained as						
818	25	LF	Required)	\$50.00	\$1,250.00	\$65.00	\$1,625.00	\$132.00	\$3,300.00
818	200	LF	12" PVC Waterline (Restrained as Required)	\$90.00	\$18,000.00	\$70.00	\$14,000,00	\$151.00	\$30,200.00
010	200	LF	required)	\$90.00	φ10,000.00	\$70.00	\$14,000.00	\$151.00	\$50,200.00
			16" PVC Waterline (Restrained as						
818	1,000	LF	Required)	\$120.00	\$120,000.00	\$80.00	\$80,000.00	\$162.00	\$162,000.00
			20" PVC Waterline (Restrained as						
818	100	LF	Required)	\$160.00	\$16,000.00	\$120.00	\$12,000.00	\$227.00	\$22,700.00
			24" PVC Waterline (Restrained as						
818	1,000	LF	Required)	\$210.00	\$210,000.00	\$170.00	\$170,000.00	\$246.00	\$246,000.00
-	,		* ′				,		
922	50	T.E.	Short Vard Dining	¢20.00	¢1 000 00	¢25.00	Ø1 250 00	¢27.00	¢1 000 00
822	50	LF	Short Yard Piping	\$20.00	\$1,000.00	\$25.00	\$1,250.00	\$36.00	\$1,800.00
822	50	LF	Long Yard Piping	\$20.00	\$1,000.00	\$25.00	\$1,250.00	\$36.00	\$1,800.00
			Yard Piping - Directional Bore Method (All Sizes 2" Diameter and						
823	50	LF	Smaller)	\$70.00	\$3,500.00	\$75.00	\$3,750.00	\$66.00	\$3,300.00

Prepared by EHS	D 12 027 CM	(Canton of No.) C 12 020	n Civ	જ						
Solicitation No	ы: В-12-027-СМ	Contract No.: C-12-030	IO WATER SYSTEM	50	ω		54	National Power Rodding Corp.		
		P. O. BOX 2449	io william profilm	nto Sandblasting & Coatin Oilfield Services Co., Inc. 9456 South Presa	San Antonio, TX 78223	uo	312 Sunset Dr Granite Shoals, TX 78654	l gu	4	
			EXAS 78298-2449	sandblasting & Ccield Services Co.,	X	Atlas Construction	Sunset Dr	ddij	9850 FM 969 Austin, TX 78724	
		TABULATION O	F BIDS	ting ices	T, C	nstr	unse ds, 7	- Ro	Σ̈́Χ	
PROPOSAL:		DSP Open Cut Wat	ter Work Order Construction	olasi Serv	onic	Ĉ	Shog Shog) we	in, 1	
		Contract 2012		andbandbald S	Ant	tlas	312 ite Sk	I Pc	98. rusti	
		Job # 12-7202		o S _k	San	-	ram	ona	∢	
TIME &		10:00 A.M.		Cont	01		G	Nati		
DATE:	April 13, 2012			Ā						
Item No.	Estimate Qty	Unit of Issue	Description	Unit Price		Unit Price	Total	Unit Price	Total	
824	5	EA	Reconnect 3/4" Short Service	\$500.00	\$2,500.00	\$700.00	\$3,500.00	\$600.00	\$3,000.00	
824	5	EA	Relay 3/4" Short Service	\$600.00	\$3,000.00	\$800.00	\$4,000.00	\$1,100.00	\$5,500.00	
			·							
824	5	EA	Relay 3/4" Long Service	\$850.00	\$4,250.00	\$1,000.00	\$5,000.00	\$2,000.00	\$10,000.00	
024		LA	Relay 3/4 Long Service	\$650.00	ψ4,230.00	\$1,000.00	\$3,000.00	\$2,000.00	\$10,000.00	
924		E.A.	New 3/4" Short Service	¢<00.00	¢2,000,00	¢700.00	¢2.500.00	¢1 100 00	φ5 500 00	
824	5	EA	New 3/4 Short Service	\$600.00	\$3,000.00	\$700.00	\$3,500.00	\$1,100.00	\$5,500.00	
824	5	EA	New 3/4" Long Service	\$850.00	\$4,250.00	\$1,000.00	\$5,000.00	\$2,000.00	\$10,000.00	
824	3	EA	Relay 1" Short Service	\$750.00	\$2,250.00	\$1,000.00	\$3,000.00	\$1,200.00	\$3,600.00	
824	3	EA	Relay 1" Long Service	\$1,000.00	\$3,000.00	\$1,200.00	\$3,600.00	\$2,200.00	\$6,600.00	
824	3	EA	New 1" Short Service	\$750.00	\$2,250.00	\$1,000.00	\$3,000.00	\$1,200.00	\$3,600.00	
824	3	EA	New 1" Long Service	\$1,000.00	\$3,000.00	\$1,200.00	\$3,600.00	\$2,200.00	\$6,600.00	
824	2	EA	Relay 1 1/2" Short Service	\$950.00	\$1,900.00	\$1,100.00	\$2,200.00	\$1,500.00	\$3,000.00	
824	1	EA	Relay 1 1/2" Long Service	\$1,500.00	\$1,500.00	\$1,600.00	\$1,600.00	\$2,500.00	\$2,500.00	
			, ,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	. ,	, , , , , , , , , , , ,	, ,,,,,,,,,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	. ,,	
824	1	EA	New 1 1/2" Short Service	\$950.00	\$950.00	\$1,100.00	\$1,100.00	\$1,500.00	\$1,500.00	
024	1	EA	Tion 1 1/2 bhoft belvice	φ330.00	φ/50.00	φ1,100.00	φ1,100.00	φ1,500.00	φ1,500.00	
924		E7 A	Now 1 1/2" I and S	¢1.500.00	¢1 500 00	¢1 <00 00	¢1 coo co	¢3.000.00	\$2,000,00	
824	1	EA	New 1 1/2" Long Service	\$1,500.00	\$1,500.00	\$1,600.00	\$1,600.00	\$2,800.00	\$2,800.00	
824	1	EA	Relay 2" Short Service	\$1,250.00	\$1,250.00	\$1,600.00	\$1,600.00	\$3,500.00	\$3,500.00	
824	1	EA	Relay 2" Long Service	\$1,800.00	\$1,800.00	\$1,900.00	\$1,900.00	\$3,700.00	\$3,700.00	

Prepared by EHS	D 12 027 CM	(G) CN	જ અ						
Solicitation No	ы: В-12-027-СМ	Contract No.: C-12-030	IO WATER SYSTEM	Pronto Sandblasting & Coating & Oilfield Services Co., Inc. 9456 South Presa	m		45	- Jorp		
		P. O. BOX 2449	10 WILLIAM STEEL	nto Sandblasting & Coatin Oilfield Services Co., Inc. 9456 South Presa	San Antonio, TX 78223	uo	312 Sunset Dr Granite Shoals, TX 78654	l gu	42	
			EXAS 78298-2449	andblasting & Cc leld Services Co., 9456 South Presa	<u>.</u> X	Atlas Construction	Ž X	ddij	9850 FM 969 Austin, TX 78724	
		TABULATION O	F BIDS	ting rices	T, c	nstr	unse ds, 7	- Ro	Z X	
PROPOSAL:		DSP Open Cut Wat	ter Work Order Construction	olast Serv	0000	Ĉ	Shoë)wei	in, 1	
		Contract 2012		andbell Seld S	Ant	tlas	312 ite S	I Pc	98.	
		Job # 12-7202		o S _k	San		rani	lona	∢	
TIME &		10:00 A.M.		ront			G	National Power Rodding Corp. 9850 FM 969 Austin, TX 78724		
DATE:	April 13, 2012			<u>A</u>						
Item No.	Estimate Qty	Unit of Issue	Description	Unit Price		Unit Price	Total	Unit Price	Total	
824	1	EA	New 2" Short Service	\$1,250.00	\$1,250.00	\$1,600.00	\$1,600.00	\$3,500.00	\$3,500.00	
824	1	EA	New 2" Long Service	\$1,800.00	\$1,800.00	\$1,900.00	\$1,900.00	\$3,700.00	\$3,700.00	
824	1	EA	Relocate 3/4" Short Service	\$550.00	\$550.00	\$700.00	\$700.00	\$1,100.00	\$1,100.00	
					·					
824	1	EA	Relocate 3/4" Long Service	\$800.00	\$800.00	\$1,000.00	\$1,000.00	\$2,000.00	\$2,000.00	
024	1	E/I	Terocure of Congressive	ψοσο.σσ	φοσο.σο	ψ1,000.00	ψ1,000.00	Ψ2,000.00	Ψ2,000.00	
824	1	EA	Relocate 1" Short Service	\$750.00	\$750.00	\$1,000.00	\$1,000.00	\$1,200.00	\$1,200.00	
024	1	EA	Relocate 1 Short Service	\$730.00	\$730.00	\$1,000.00	\$1,000.00	\$1,200.00	\$1,200.00	
024		D.	D 1 (111 G)	#1 2 00 00	Φ1 2 00 00	φ1 2 00 00	#1 2 00 00	#2 200 00	Ф2 200 00	
824	1	EA	Relocate 1" Long Service	\$1,200.00	\$1,200.00	\$1,200.00	\$1,200.00	\$2,200.00	\$2,200.00	
824	1	EA	Relocate 1 1/2" Short Service	\$950.00	\$950.00	\$1,100.00	\$1,100.00	\$1,500.00	\$1,500.00	
824	1	EA	Relocate 1 1/2" Long Service	\$1,500.00	\$1,500.00	\$1,600.00	\$1,600.00	\$2,800.00	\$2,800.00	
824	1	EA	Relocate 2" Short Service	\$1,250.00	\$1,250.00	\$1,600.00	\$1,600.00	\$2,200.00	\$2,200.00	
824	1	EA	Relocate 2" Long Service	\$1,800.00	\$1,800.00	\$1,900.00	\$1,900.00	\$3,700.00	\$3,700.00	
824	1	EA	New 4" Short Service	\$2,400.00	\$2,400.00	\$3,500.00	\$3,500.00	\$4,200.00	\$4,200.00	
824	1	EA	New 4" Long Service	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$5,300.00	\$5,300.00	
824	1	EA	Relay 4" Short Service	\$2,400.00	\$2,400.00	\$3,500.00	\$3,500.00	\$4,200.00	\$4,200.00	
			,		. ,	. ,,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, , , , , ,	, , , , , , , , , , , , , , , , , , , ,	
824	1	EA	Relay 4" Long Service	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$5,300.00	\$5,300.00	
024	1	LA	Long ber nec	ψτ,σου.σο	ψτ,υυυ.υυ	ψ+,000.00	ψ+,000.00	ψ3,300.00	ψυ,υσο.σσ	
004		E.4	Dalagata A'' I ang Ci	ΦQ 400 00	#A A A A B A B B	Φ4.000.00	Φ# 000 00	φε 200 cc	ΦΕ 200 00	
824	1	EA	Relocate 4" Long Service	\$2,400.00	\$2,400.00	\$4,000.00	\$4,000.00	\$5,300.00	\$5,300.00	

Prepared by EHS Solicitation No.	· B-12-027-CM	Contract No.: C-12-030)-CV	શ્ર				6.		
Solicitation 140	B 12 027 CM		IO WATER SYSTEM	Pronto Sandblasting & Coating & Oilfield Services Co., Inc. 9456 South Presa	23		312 Sunset Dr Granite Shoals, TX 78654	National Power Rodding Corp.		
		P. O. BOX 2449		nto Sandblasting & Coatin Oilfield Services Co., Inc. 9456 South Presa	San Antonio, TX 78223	ion	786 786	ing	9850 FM 969 Austin, TX 78724	
		ŕ	EXAS 78298-2449	sandblasting & Ccield Services Co.,	X	ruct	TX	ppo	787	
		TABULATION O		lstin rvice outh	iio, '	onst	Suns oals,	er R	TX	
PROPOSAL:		-	ter Work Order Construction	dbla 1 Se 56 S	ntor	as C	She	woc	stin,	
		Contract 2012 Job # 12-7202		San fielc 94,	n A	Atla	3 mite		Au	
TIME &		10:00 A.M.		nto Oil	Sa		Gr	atio		
DATE:	April 13, 2012			Pro				Z		
DATE.	Estimate Estimate									
Item No.	Qty	Unit of Issue	Description	Unit Price		Unit Price	Total	Unit Price	Total	
824	1	EA	Relocate 4" Short Service	\$4,000.00	\$4,000.00	\$3,500.00	\$3,500.00	\$4,200.00	\$4,200.00	
824	1	EA	New 6" Short Service	\$3,000.00	\$3,000.00	\$3,500.00	\$3,500.00	\$5,600.00	\$5,600.00	
824	1	EA	New 6" Long Service	\$5,000.00	\$5,000.00	\$4,000.00	\$4,000.00	\$7,000.00	\$7,000.00	
824	1	EA	Relay 6" Short Service	\$3,000.00	\$3,000.00	\$3,500.00	\$3,500.00	\$5,600.00	\$5,600.00	
824	1	EA	Relay 6" Long Service	\$5,000.00	\$5,000.00	\$4,000.00	\$4,000.00	\$7,000.00	\$7,000.00	
824	1	EA	Relocate 6" Long Service	\$5,000.00	\$5,000.00	\$4,000.00	\$4,000.00	\$7,000.00	\$7,000.00	
824	1	EA	Relocate 6" Short Service	\$3,000.00	\$3,000.00	\$3,500.00	\$3,500.00	\$5,600.00	\$5,600.00	
824	1	EA	New unmetered 3/4" Short Service	\$500.00	\$500.00	\$700.00	\$700.00	\$1,100.00	\$1,100.00	
824	1	EA	New unmetered 3/4" Long Service	\$800.00	\$800.00	\$1,000.00	\$1,000.00	\$2,000.00	\$2,000.00	
824	1	EA	New unmetered 1" Short Service	\$700.00	\$700.00	\$1,000.00	\$1,000.00	\$1,200.00	\$1,200.00	
824	1	EA	New unmetered 1" Long Service	\$1,000.00	\$1,000.00	\$1,200.00	\$1,200.00	\$2,200.00	\$2,200.00	
			New unmetered 1 1/2" Short							
824	1	EA	Service	\$1,200.00	\$1,200.00	\$1,100.00	\$1,100.00	\$1,500.00	\$1,500.00	
			New unmetered 1 1/2" Long							
824	1	EA	Service Service	\$1,500.00	\$1,500.00	\$1,600.00	\$1,600.00	\$2,800.00	\$2,800.00	
824	1	EA	New unmetered 2" Short Service	\$1,200.00	\$1,200.00	\$1,600.00	\$1,600.00	\$2,200.00	\$2,200.00	
824	1	EA	New unmetered 2" Long Service	\$1,800.00	\$1,800.00	\$1,900.00	\$1,900.00	\$3,700.00	\$3,700.00	

Prepared by EHS Solicitation No	o.: B-12-027-CM	1 Contract No.: C-12-030		& gi .			_	rtp.		
PROPOSAL:		P. O. BOX 2449 SAN ANTONIO, T TABULATION O	TEXAS 78298-2449 F BIDS ter Work Order Construction	Pronto Sandblasting & Coating Oilfield Services Co., Inc.	San Antonio, TX 78223	Construction	312 Sunset Dr Granite Shoals, TX 78654	National Power Rodding Corp.	9850 FM 969 Austin, TX 78724	
		Contract 2012 Job # 12-7202		o Sandb	San Antc	Atlas	312 iranite SI	ional Pov	985 Austii	
TIME &		10:00 A.M.		Pront	_		O	Nati.		
DATE: Item No.	Estimate Qty	April 13, 2012 te Unit of Issue Description		Unit Price		Unit Price	Total	Unit Price	Total	
	C -3					Cint Trice	1000	Cint 1 Tiec	1000	
824	1	EA	New unmetered 4" Short Service	\$2,400.00	\$2,400.00	\$3,500.00	\$3,500.00	\$4,200.00	\$4,200.00	
824	1	EA	New unmetered 4" Long Service	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$5,300.00	\$5,300.00	
824	1	EA	New unmetered 6" Short Service	\$3,000.00	\$3,000.00	\$3,500.00	\$3,500.00	\$5,600.00	\$5,600.00	
824	1	EA	New unmetered 6" Long Service	\$5,000.00	\$5,000.00	\$4,000.00	\$4,000.00	\$7,000.00	\$7,000.00	
826	1	EA	Valve Box Adjustment	\$100.00	\$100.00	\$500.00	\$500.00	\$300.00	\$300.00	
828	1	EA	6" Gate Valve	\$1,200.00	\$1,200.00	\$1,200.00	\$1,200.00	\$1,000.00	\$1,000.00	
828	4	EA	8" Gate Valve	\$1,600.00	\$6,400.00	\$1,400.00	\$5,600.00	\$1,500.00	\$6,000.00	
828	1	EA	10" Gate Valve	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,100.00	\$2,100.00	
828	3	EA	12" Gate Valve	\$2,700.00	\$8,100.00	\$2,500.00	\$7,500.00	\$2,400.00	\$7,200.00	
828	2	EA	16" Gate Valve	\$8,000.00	\$16,000.00	\$8,000.00	\$16,000.00	\$6,500.00	\$13,000.00	
830	1	EA	20" Butterfly Valve	\$9,000.00	\$9,000.00	\$8,000.00	\$8,000.00	\$8,300.00	\$8,300.00	
830	1	EA	30" Butterfly Valve	\$12,000.00	\$12,000.00	\$16,000.00	\$16,000.00	\$11,000.00	\$11,000.00	
831	1	EA	6"x 6" Tee Cut In	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$2,170.00	\$2,170.00	
831	1	EA	8"x 6" Tee Cut In	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$2,660.00	\$2,660.00	
831	1	EA	8"x 8" Tee Cut In	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$3,000.00	\$3,000.00	

Prepared by EHS Solicitation N PROPOSAL TIME & DATE:	io.: B-12-027-CN	P. O. BOX 2449 SAN ANTONIO, T TABULATION O	TO WATER SYSTEM TEXAS 78298-2449	Pronto Sandblasting & Coating & Oilfield Services Co., Inc.	San Antonio, TX 78223	Atlas Construction	312 Sunset Dr Granite Shoals, TX 78654	National Power Rodding Corp.	National Power Rodding Corp. 9850 FM 969 Austin, TX 78724	
Item No.	Estimate Qty	Unit of Issue	Description	Unit Price		Unit Price	Total	Unit Price	Total	
831	1	EA	10"x 8" Tee Cut In	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$3,600.00	\$3,600.00	
651	1	EA	10 x 6 Tec Cut III	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$3,000.00	\$3,000.00	
831	1	EA	12"x 8" Tee Cut In	\$1,800.00	\$1,800.00	\$1,700.00	\$1,700.00	\$3,800.00	\$3,800.00	
831	1	EA	12"x 10" Tee Cut In	\$2,000.00	\$2,000.00	\$1,900.00	\$1,900.00	\$4,200.00	\$4,200.00	
921	1	EA	12"x 12" Tee Cut In	\$2,000,00	¢2,000,00	¢1 000 00	¢1,000,00	£4 200 00	¢4.200.00	
831	1	EA	12 x 12 Tee Cut III	\$2,000.00	\$2,000.00	\$1,900.00	\$1,900.00	\$4,200.00	\$4,200.00	
831	1	EA	16"x 8" Tee Cut In	\$3,000.00	\$3,000.00	\$2,800.00	\$2,800.00	\$5,600.00	\$5,600.00	
831	1	EA	16"x10" Tee Cut In	\$3,200.00	\$3,200.00	\$3,200.00	\$3,200.00	\$5,800.00	\$5,800.00	
831	1	EA	16"x12" Tee Cut In	\$3,200.00	\$3,200.00	\$3,200.00	\$3,200.00	\$6,000.00	\$6,000.00	
631	1	LA	10 XIZ TEC Cut III	\$3,200.00	\$3,200.00	\$3,200.00	\$3,200.00	\$0,000.00	φ0,000.00	
831	1	EA	16"x16" Tee Cut In	\$4,000.00	\$4,000.00	\$3,800.00	\$3,800.00	\$6,300.00	\$6,300.00	
831	1	EA	20"x8" Tee Cut In	\$3,200.00	\$3,200.00	\$3,800.00	\$3,800.00	\$7,200.00	\$7,200.00	
831	1	EA	20"x10" Tee Cut In	\$3,200.00	\$3,200.00	\$4,200.00	\$4,200.00	\$7,600.00	\$7,600.00	
				70,20000	70,20000	+ 1,= 0 0 10 1	+ 1,= 00100	.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	71,000100	
831	1	EA	20"x12" Tee Cut In	\$4,500.00	\$4,500.00	\$4,300.00	\$4,300.00	\$7,800.00	\$7,800.00	
831	1	EA	20"x16" Tee Cut In	\$5,000.00	\$5,000.00	\$4,800.00	\$4,800.00	\$8,400.00	\$8,400.00	
831	1	EA	20"x20" Tee Cut In	\$3,200.00	\$3,200.00	\$5,000.00	\$5,000.00	\$9,200.00	\$9,200.00	
831	1	EA	24"x8" Tee Cut In	\$4,800.00	\$4,800.00	\$4,700.00	\$4,700.00	\$7,800.00	\$7,800.00	
831	1	EA	24"x10" Tee Cut In	\$4,800.00	\$4,800.00	\$4,800.00	\$4,800.00	\$7,800.00	\$7,800.00	

Prepared by EHS Solicitation No	.: B-12-027-CM	I Contract No.: C-12-030		& gr .			+	vrp.	
PROPOSAL: TIME &		P. O. BOX 2449 SAN ANTONIO, T TABULATION O	TEXAS 78298-2449 F BIDS ter Work Order Construction	Pronto Sandblasting & Coating Oilfield Services Co., Inc. 9456 South Presa	San Antonio, TX 78223	Atlas Construction	312 Sunset Dr Granite Shoals, TX 78654	National Power Rodding Corp.	9850 FM 969 Austin, TX 78724
DATE:		April 13, 2012		Pro				Z	
Item No.	Estimate Qty Unit of Issue Description		Description	Unit Price		Unit Price	Total	Unit Price	Total
831	1	EA	24"x12" Tee Cut In	\$4,800.00	\$4,800.00	\$4,900.00	\$4,900.00	\$7,900.00	\$7,900.00
831	1	EA	24"x16" Tee Cut In	\$5,200.00	\$5,200.00	\$5,200.00	\$5,200.00	\$8,600.00	\$8,600.00
831	1	EA	24"x20" Tee Cut In	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00	\$9,600.00	\$9,600.00
831	1	EA	24"x24" Tee Cut In	\$6,200.00	\$6,200.00	\$6,200.00	\$6,200.00	\$10,000.00	\$10,000.00
832	1	EA	8"x6" Tapping Sleeves and Valves	\$1,500.00	\$1,500.00	\$3,000.00	\$3,000.00	\$4,900.00	\$4,900.00
832	1	EA	12"x8" Tapping Sleeves and Valves	\$4,200.00	\$4,200.00	\$4,500.00	\$4,500.00	\$5,800.00	\$5,800.00
832	1	EA	12"x10" Tapping Sleeves and Valves	\$5,200.00	\$5,200.00	\$5,000.00	\$5,000.00	\$6,900.00	\$6,900.00
832	1	EA	16"x8" Tapping Sleeves and Valves	\$3,000.00	\$3,000.00	\$4,000.00	\$4,000.00	\$7,800.00	\$7,800.00
832	1	EA	16"x10" Tapping Sleeves and Valves	\$3,500.00	\$3,500.00	\$5,500.00	\$5,500.00	\$7,200.00	\$7,200.00
832	1	EA	16"x12" Tapping Sleeves and Valves	\$5,000.00	\$5,000.00	\$6,500.00	\$6,500.00	\$8,200.00	\$8,200.00
832	1	EA	20"x8" Tapping Sleeves and Valves	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$7,000.00	\$7,000.00
832	1	EA	20"x10" Tapping Sleeves and Valves	\$4,000.00	\$4,000.00	\$6,500.00	\$6,500.00	\$7,900.00	\$7,900.00
832	1	EA	20"x12" Tapping Sleeves and Valves	\$7,000.00	\$7,000.00	\$5,000.00	\$5,000.00	\$8,500.00	\$8,500.00
832	1	EA	20"x16" Tapping Sleeves and Valves	\$12,000.00	\$12,000.00	\$14,000.00	\$14,000.00	\$14,000.00	\$14,000.00
832	1	EA	24"x8" Tapping Sleeves and Valves	\$5,600.00	\$5,600.00	\$4,500.00	\$4,500.00	\$8,200.00	\$8,200.00

Prepared by EHS Solicitation No	o.: B-12-027-CM	I Contract No.: C-12-030)-CN	8 8				ď.		
SAN ANTONIO WATER SYSTEM			Pronto Sandblasting & Coating Oilfield Services Co., Inc. 9456 South Presa	1223	ជ	312 Sunset Dr Granite Shoals, TX 78654	National Power Rodding Corp. 9850 FM 969 Austin, TX 78724			
	P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449			to Sandblasting & Coati Diffield Services Co., Inc 9456 South Presa San Antonio, TX 78223		uctio	TX 7	ddin	9850 FM 969 Austin, TX 78724	
	TABULA			ting rices	o, T	nstra	als, J	r Ro	Ž X	
PROPOSAL:		DSP Open Cut Wat	ter Work Order Construction	blas Serv 6 So	toni	° Co	Shoa	owe	in, 7	
		Contract 2012		Sand ield 945	ı An	Atla	31 nite	al P	Aus	
TIME &		Job # 12-7202		nto S	Sar	`	Gra	rtion:		
DATE:		10:00 A.M.		Proi				Z a		
DATE:	Estimata	April 13, 2012								
Item No.	Estimate Qty	Unit of Issue	Description	Unit Price		Unit Price	Total	Unit Price	Total	
			24"x10" Tapping Sleeves and							
832	1	EA	Valves	\$4,500.00	\$4,500.00	\$6,500.00	\$6,500.00	\$9,200.00	\$9,200.00	
			24"x12" Tapping Sleeves and							
832	1	EA	Valves	\$7,000.00	\$7,000.00	\$7,500.00	\$7,500.00	\$9,800.00	\$9,800.00	
			24"x16" Tapping Sleeves and							
832	1	EA	Valves	\$14,000.00	\$14,000.00	\$19,000.00	\$19,000.00	\$16,000.00	\$16,000.00	
			24"x20" Tapping Sleeves and							
832	1	EA	Valves	\$21,000.00	\$21,000.00	\$21,000.00	\$21,000.00	\$22,000.00	\$22,000.00	
022	_		Existing Meter and Meter Box	#100.00	Φ500.00	\$500.00	#2.500.00	\$ 500.00	¢2.400.00	
833	5	EA	Relocation	\$100.00	\$500.00	\$500.00	\$2,500.00	\$680.00	\$3,400.00	
833	2	EA	Meter Box	\$100.00	\$200.00	\$500.00	\$1,000.00	\$500.00	\$1,000.00	
633	2	EA	Meter Box	\$100.00	\$200.00	\$300.00	\$1,000.00	\$300.00	\$1,000.00	
834	5	EA	Fire Hydrant	\$5,000.00	\$25,000.00	\$6,500.00	\$32,500.00	\$6,200.00	\$31,000.00	
034	3	LA	i ne riyurant	\$5,000.00	Ψ23,000.00	\$0,500.00	\$32,300.00	\$0,200.00	\$31,000.00	
836	8	TON	Pipe Fittings, All Sizes & Types	\$500.00	\$4,000.00	\$8,000.00	\$64,000.00	\$7,000.00	\$56,000.00	
		101,	Transfer and Market Market	\$2.00.00	ψ.,σσσ.σσ	\$6,000.00	\$0.,000.00	<i>\$7,000.00</i>	Ψ2 0,0 00100	
840	1	EA	6" Water Tie-Ins	\$1,400.00	\$1,400.00	\$1,400.00	\$1,400.00	\$3,900.00	\$3,900.00	
				, , , , , ,	, ,	, ,	, , ,	,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	
840	6	EA	8" Water Tie-Ins	\$1,400.00	\$8,400.00	\$1,400.00	\$8,400.00	\$4,200.00	\$25,200.00	
840	1	EA	10" Water Tie-Ins	\$400.00	\$400.00	\$1,500.00	\$1,500.00	\$4,300.00	\$4,300.00	
840	5	EA	12" Water Tie-Ins	\$2,200.00	\$11,000.00	\$1,800.00	\$9,000.00	\$5,200.00	\$26,000.00	
840	3	EA	16" Water Tie-Ins	\$2,800.00	\$8,400.00	\$2,500.00	\$7,500.00	\$5,600.00	\$16,800.00	
840	1	EA	20" Water Tie-Ins	\$2,400.00	\$2,400.00	\$2,800.00	\$2,800.00	\$7,000.00	\$7,000.00	
840	1	EA	24" Water Tie-Ins	\$5,000.00	\$5,000.00	\$3,600.00	\$3,600.00	\$8,000.00	\$8,000.00	

Prepared by EHS Solicitation No.	.: B-12-027-CM	Contract No.: C-12-030		& gr .			+	urp.		
PROPOSAL:		P. O. BOX 2449 SAN ANTONIO, T. TABULATION OI		Pronto Sandblasting & Coating Oilfield Services Co., Inc.	San Antonio, TX 78223	Atlas Construction	312 Sunset Dr Granite Shoals, TX 78654	National Power Rodding Corp. 9850 FM 969 Austin, TX 78724		
TIME &		Job # 12-7202 10:00 A.M. April 13, 2012		nto S Oilfi	San]	Grar			
DATE:				Proi				Z S		
Item No.	Estimate Qty	Unit of Issue	Description	Unit Price		Unit Price	Total	Unit Price	Total	
841	4	EA	Hydrostatic Testing	\$2,400.00	\$9,600.00	\$2,500.00	\$10,000.00	\$660.00	\$2,640.00	
844	2	EA	2" Blow-off, Permanent	\$1,400.00	\$2,800.00	\$2,500.00	\$5,000.00	\$3,500.00	\$7,000.00	
844	4	EA	2" Blow-off, Temporary	\$1,200.00	\$4,800.00	\$1,700.00	\$6,800.00	\$4,500.00	\$18,000.00	
844	1	EA	4" Blow-off, Permanent	\$10,000.00	\$10,000.00	\$7,000.00	\$7,000.00	\$10,900.00	\$10,900.00	
844	1	EA	4" Blow-off, Temporary	\$10,000.00	\$10,000.00	\$7,000.00	\$7,000.00	\$16,000.00	\$16,000.00	
846	2	EA	1" Air Release Assemblies	\$1,400.00	\$2,800.00	\$1,800.00	\$3,600.00	\$2,500.00	\$5,000.00	
846	1	EA	2" Air Release Assemblies	\$2,800.00	\$2,800.00	\$3,000.00	\$3,000.00	\$3,700.00	\$3,700.00	
856.1	100	LF	Jacking, Boring, or Tunneling 8"	\$80.00	\$8,000.00	\$170.00	\$17,000.00	\$125.00	\$12,500.00	
856.1	100	LF	Jacking, Boring, or Tunneling 12"	\$120.00	\$12,000.00	\$240.00	\$24,000.00	\$147.00	\$14,700.00	
856.1	100	LF	Jacking, Boring, or Tunneling 16"	\$180.00	\$18,000.00	\$350.00	\$35,000.00	\$202.00	\$20,200.00	
830.1	100	LF	Jacking, Bornig, or Tunnering To	\$180.00	\$18,000.00	\$550.00	\$33,000.00	\$202.00	\$20,200.00	
856.1	100	LF	Jacking, Boring, or Tunneling 24"	\$220.00	\$22,000.00	\$480.00	\$48,000.00	\$262.00	\$26,200.00	
856.2	100	LF	Carrier Pipe for Jacking, Boring, Tunneling 8"	\$30.00	\$3,000.00	\$75.00	\$7,500.00	\$89.00	\$8,900.00	
856.2	100	LF	Carrier Pipe for Jacking, Boring, Tunneling 12"	\$45.00	\$4,500.00	\$120.00	\$12,000.00	\$90.00	\$9,000.00	
856.2	100	LF	Carrier Pipe for Jacking, Boring, Tunneling 16"	\$70.00	\$7,000.00	\$150.00	\$15,000.00	\$130.00	\$13,000.00	
856.2	100	LF	Carrier Pipe for Jacking, Boring, Tunneling 24"	\$140.00	\$14,000.00	\$360.00	\$36,000.00	\$219.00	\$21,900.00	

Prepared by EHS Solicitation No	.: B-12-027-CM	Contract No.: C-12-030)-CN	8				.d		
SAN ANTONIO WATER SYSTEM			oating	Pronto Sandblasting & Coating & Oilfield Services Co., Inc. 9456 South Presa San Antonio, TX 78223 Atlas Construction 312 Sunset Dr Gramite Shoals, TX 78654				→		
P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449			& C. Co., Press	San Antonio, TX 78223	ıctio	Z Z	National Power Rodding Corp. 9850 FM 969 Austin, TX 78724			
	TABULATION OF BIDS			ting 7ices	o, T	nstru	ınset ıls, T	.Roc MM 9		
PROPOSAL:		DSP Open Cut Wat	ter Work Order Construction	sandblasting & Ccield Services Co., 9456 South Presa		s Co	2 Stos	ower 550 F in, T		
		Contract 2012		Sand field 945	n Ar	Atla	31 nite	nal P	Aus Aus	
TIME &		Job # 12-7202 10:00 A.M.		onto S	Sa		Gra	ation		
DATE:		April 13, 2012		Prc				Z		
Item No.	Estimate Qty	Unit of Issue	Description	Unit Price		Unit Price	Total	Unit Price	Total	
101111101	203	Cint of Issue	Description	CIRC FIRE		Cint Trice	Total	CIRCLE TREE	Total	
856.3	100	LF	Steel Casing 24"	\$100.00	\$10,000.00	\$125.00	\$12,500.00	\$76.00	\$7,600.00	
856.3	100	LF	Steel Casing 30"	\$140.00	\$14,000.00	\$150.00	\$15,000.00	\$100.00	\$10,000.00	
830.3	100	LI	Steel Casing 50	\$140.00	\$14,000.00	\$130.00	\$13,000.00	\$100.00	\$10,000.00	
856.3	100	LF	Steel Casing 36"	\$180.00	\$18,000.00	\$175.00	\$17,500.00	\$104.00	\$10,400.00	
856.3	100	LF	Steel Casing 42"	\$200.00	\$20,000.00	\$225.00	\$22,500.00	\$133.00	\$13,300.00	
858	100	LF	Concrete Encasement	\$150.00	\$15,000.00	\$150.00	\$15,000.00	\$55.00	\$5,500.00	
1015	1	EA	3/4" & 1" Copper Service Line Leak/Break Repair	\$800.00	\$800.00	\$900.00	\$900.00	\$3,000.00	\$3,000.00	
			1.5" & 2" Copper Service Line		·			. ,	. ,	
1015	1	EA	Leak/Break Repair	\$800.00	\$800.00	\$1,600.00	\$1,600.00	\$3,000.00	\$3,000.00	
1015	1	EA	6-inch Main Break/Leak Repair	\$1,800.00	\$1,800.00	\$2,000.00	\$2,000.00	\$6,600.00	\$6,600.00	
1020			0: 1M: D 14 1D :	#2.400.00	\$2 ,400,00	#2.500.00	#2.500.00	0 4 700 00	0.5700.00	
1020	1	EA	8-inch Main Break/Leak Repair	\$2,400.00	\$2,400.00	\$2,500.00	\$2,500.00	\$6,700.00	\$6,700.00	
1020	1	EA	10-inch Main Break/Leak Repair, all types	\$2,400.00	\$2,400.00	\$3,000.00	\$3,000.00	\$6,800.00	\$6,800.00	
1020	1	EA	12-inch Main Break/Leak Repair, all types	\$2,800.00	\$2,800.00	\$3,500.00	\$3,500.00	\$8,600.00	\$8,600.00	
			16-inch Main Break/Leak Repair,							
1020	1	EA	all types	\$3,600.00	\$3,600.00	\$5,000.00	\$5,000.00	\$8,800.00	\$8,800.00	
			20-inch Main Break/Leak Repair,							
1020	1	EA	all types	\$4,200.00	\$4,200.00	\$10,000.00	\$10,000.00	\$10,200.00	\$10,200.00	
1020	1	EA	24-inch Main Break/Leak Repair,	\$4,800.00	\$4,800.00	\$12,000.00	\$12,000,00	\$12,000.00	\$12,000.00	
1020	1	EA	all types	\$4,800.00	\$4,800.00	\$12,000.00	\$12,000.00	\$12,000.00	\$12,000.00	

Prepared by EHS Solicitation No.: B-12-027-CN PROPOSAL: TIME &		P. O. BOX 2449 SAN ANTONIO, TE TABULATION OF DSP Open Cut Wate Contract 2012 Job # 12-7202 10:00 A.M.	O WATER SYSTEM EXAS 78298-2449	Pronto Sandblasting & Coating & Oilfield Services Co., Inc.	San Antonio, TX 78223	Atlas Construction	312 Sunset Dr Granite Shoals, TX 78654	National Power Rodding Corp. 9850 FM 969 Austin, TX 78724	
DATE: Item No.	Estimate Qty	April 13, 2012 Unit of Issue	Description	Unit Price		Unit Price	Total	Unit Price	Total
1030	2	EA	Pressure Reducing Valve Assembly complete in vault (6"- 12") SCADA fitted	\$23,000.00	\$46,000.00	\$32,000.00	\$64,000.00	\$20,000.00	\$40,000.00
2000	100	LF	Horizontal Directional Drilling 6" HDPE SDR 11 (DIPS)	\$185.00	\$18,500.00	\$120.00	\$12,000.00	\$75.00	\$7,500.00
2000	100	LF	Horizontal Directional Drilling 8" HDPE SDR 11 (DIPS)	\$200.00	\$20,000.00	\$175.00	\$17,500.00	\$110.00	\$11,000.00
2000	100	LF	Horizontal Directional Drilling 10" HDPE SDR 11 (DIPS)	\$220.00	\$22,000.00	\$200.00	\$20,000.00	\$130.00	\$13,000.00
2000	100	LF	Horizontal Directional Drilling 12" HDPE SDR 11 (DIPS)	\$280.00	\$28,000.00	\$300.00	\$30,000.00	\$165.00	\$16,500.00
2000	100	LF	Horizontal Directional Drilling 16" HDPE SDR 11 (DIPS)	\$350.00	\$35,000.00	\$325.00	\$32,500.00	\$212.00	\$21,200.00
2000	100	LF	Horizontal Directional Drilling 20" HDPE SDR 11 (DIPS)	\$430.00	\$43,000.00	\$500.00	\$50,000.00	\$260.00	\$26,000.00
2000	100	LF	Horizontal Directional Drilling 24" HDPE SDR 11 (DIPS)	\$550.00	\$55,000.00	\$500.00	\$50,000.00	\$340.00	\$34,000.00
3000.14	2	EA	Removal, Transportation and Disposal of A.C. Pipe (All Pipe Sizes)	\$1,000.00	\$2,000.00	\$4,000.00	\$8,000.00	\$4,400.00	\$8,800.00
3000.15	2	EA	Asbestos Abatement Work Plan (1 per work order, if required)	\$500.00	\$1,000.00	\$4,000.00	\$8,000.00	\$3,300.00	\$6,600.00

Prepared by EHS Solicitation No		I Contract No.: C-12-030	O-CN.	3	8				.d		
	SAN ANTONIO WATER SYSTEM				Coaung o., Inc. esa	:23	on 78654		Corp.		
PROPOSAL: TIME &		P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449 TABULATION OF BIDS DSP Open Cut Water Work Order Construction Contract 2012 Job # 12-7202			andblasting & eld Services C 456 South Pr	San Antonio, TX 78223	S	Sunset Dr hoals, TX 78 wer Rodding		9820 FiM 969 Austin, TX 78724	
		10:00 A.M.		Onic		δ.	5		Vatio		
DATE:		April 13, 2012		Pr							
Item No.	Estimate Qty	Unit of Issue	Description	Unit Price			Unit Price	Total	Unit Price	Total	
4438	10	СУ	Flowable Fill	\$15	50.00	\$1,500.00	\$200.00	\$2,000.00	\$140.00	\$1,400.00	
	TOTAL	BID AMOUN	T - Job#12-7202 (Water)			\$1,735,885.00		\$1,873,925.00		\$2,360,420.00	
CALENDA	R DAYS TO	COMPLETE				365		365		365	

[1] [2]